
A Social Credit Primer on Unemployment 
 
Did you know? 
 

- a modern, industrialized country can produce everything 
consumers can profitably use without calling on the full 
capacity of the available workforce 
 

- the ability to satisfy physical demand while relying on less 
and less human labour is due to the introduction and 
continual advancement of power-driven machinery, 
automation, artificial intelligence, and telecommunications 
in the process  of production 

 
- unemployment and under-employment are therefore natural 

consequences of industrial progress 
 
- however, under the current financial system, unemployment 

becomes a problem because most of the people who do not 
work either have no income or have to depend on 
government relief 
 

- the correct solution to this artificial problem of 
unemployment is not to distribute more work by “creating 
new jobs”, but rather to distribute more purchasing power 
in the form of a debt-free National Dividend to all 
individuals 

 
For more information, please visit www.socred.org 
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